mean # PXL hits vs eta | mean # PXL Layers with measurement vs eta

SN

<pixel hits>
a1
!
S
=
<pixel layers>
N [6)] w a1 s a1

T
-
—&—
N

N
I
=
[5)
I

N 15— ---------------------------------------------------------------------
S S A r
: 05;_ """"""""""""""""""""""""""""""""""""""""""""

J-.\'OIIII:IIII;IIII;IIII;IIII;IIII OJ-.LQIIII;IIII;IIII;IIII;IIII:IIII

to -
| S SO S SRR TS|
+++:

Ratio
=
T 1T 1T 71 I T 1T 1T 71
Rati
=
T 1T 1 I_:._I UL

-
£
o
&
&
-
o

+
-
-

—»-
é
&
&
e
o
o
s
_t

0.95 i i i i i 0.95

e I e
n n

—=— DQM_V0001_R000000001__Global _CMSSW._ckf RECO

| mean # STRIP hits V|

—— DQM_V0001_R000000001__Global__CMSSW._mkFitOriginal__ RECO

<strip hits>
H
N
!
<strip layers>

.....................................................................

0:_|jllillllillll:l|||i||||i||._|_ -LlLQEI‘II:IIIlillllillllillll:ll._l_

Ratio
H

! T

Ratio




	Contents
	Page 1


